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QUESTION 1

Click the exhibit. 

An update travels from AS 137000 to AS 135000, traversing both 32-bit and 16-bit AS Paths. What AS Path is seen by
AS 200? 

A. 140000 137000 

B. 137000 140000 

C. 23456 23456 

D. 200 140000 137000 

Correct Answer: C 

 

QUESTION 2

Click the exhibit. 
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Routers RR1 and RR2 are route reflectors with the same Cluster-ID. When the update for prefix 192.168.1.0/27 is
received at router RA2, what are the Originator_ID and Cluster_List attributes? 

A. Originator_ID of RR1; and Cluster_List of 10.16.10.1. 

B. Originator_ID of RX; and Cluster_List of 10.16.10.1. 

C. Originator_ID of RR1; and the Cluster_List is not set. 

D. Neither the Originator_ID nor the Cluster_List is set. 

Correct Answer: D 

 

QUESTION 3

BGP is configured on two peers, routers A and B. Router A is configured with a Hold Time timer of 60 seconds and a
Keepalive timer of 25 seconds. Router B is configured with a Hold Time timer of 90 seconds and a Keepalive timer of 70
seconds. 

What will the active Keepalive timer be on router B? 

A. 70 seconds 

B. 25 seconds 

C. 20 seconds 

D. 30 seconds 

Correct Answer: C 

 

QUESTION 4

What are the well-known mandatory BGP attributes? 
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A. Origin, Next Hop and Local Preference. 

B. Local preference, AS Path and Next Hop. 

C. Aggregator, Next Hop and AS Path. 

D. AS Path, Next Hop and Origin. 

Correct Answer: D 

 

QUESTION 5

Click on the exhibit. 

AS 65540 is using MPLS to provide BGP shortcuts for its iBGP routing. AS 65541 is advertising prefix 192.168.1.0/27
into BGP. Which routers have the BGP update for the advertised prefix in their BGP table? 

A. Routers R1, R2, R3, R4 and R5. 

B. Routers R1and R4 only. 

C. Routers R1, R2, R3 and R4 only. 

D. Routers R1, R4 and R5 only. 

Correct Answer: D 
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